
 

1 
 

Reasons Why Fundamental Accounting Concept1 Test Fails 

IS1 

Gross Profit = Revenues - Cost Of Revenue 

What this rule tests 

This rule tests the relationship between revenues, cost of revenues, and gross profit.  This test is ONLY 

applicable to economic entities which report gross profit using a multi-step type income statement. 

 Revenues 

 Cost of Revenues 

 Gross Profit 

Of all filers, approximately 47% report gross profit.  Of those who report gross profit, 95% conform to 

this test and gross profit = revenues – cost of revenues.   Of the remaining 10%, the following are the 

reasons this test is failed: 

 Neither revenues nor cost of revenues found (approximately 10%) 

 Concepts reported but they don’t tie together appropriately 

 Inappropriate concept use 

 Inappropriate extension concept 

 Changing the meaning of concept 

 Total for revenues not reported 

 Rounding 

 Undetermined 

 

Common reasons why test fails 

 

Neither revenues nor cost of revenues found 

Some economic entities reported gross profit, but reported no revenues nor cost of revenues.  Consider 

the income statement of this financial report: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1159167&accession_number=0001159167-14-

000034&xbrl_type=v#  

                                                           
1
 For more information on the fundamental accounting concepts and the relations between these concepts please 

see http://fundamentalaccountingconcepts.wikispaces.com  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1159167&accession_number=0001159167-14-000034&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1159167&accession_number=0001159167-14-000034&xbrl_type=v
http://fundamentalaccountingconcepts.wikispaces.com/
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The HTML version of their financial statement reported revenues and cost of revenues: 
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Concepts reported but they don’t tie together appropriately 

Economic entities report pieces, generally in different disclosures, and the pieces do not tie together 

appropriately.  Either (a) they should not tie and therefore they have been expressed incorrectly or (b) 

the should tie together no matter where the information is disclosed.  Consider the following example: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1503518&accession_number=0001104659-14-

063525&xbrl_type=v# 

This entity provided an income statement, but the income statement does not report cost of revenues 

nor gross profit: 

 

 

Yet, in a disclosure cost of revenue is disclosure: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1503518&accession_number=0001104659-14-063525&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1503518&accession_number=0001104659-14-063525&xbrl_type=v
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And in yet another disclosure, gross profit is disclosed. 
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Yet, these facts do not tie together appropriately. 
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=935494&accession_number=0000935494-14-

000020&xbrl_type=v#  

The reporting entity used the concept us-gaap:SalesRevenueNet on their income statement: 

 

 

That concept tied to their segment disclosure which used the same concept us-gaap:SalesRevenueNet: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=935494&accession_number=0000935494-14-000020&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=935494&accession_number=0000935494-14-000020&xbrl_type=v
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But then in the geographic information disclosure, the concept us-gaap:Revenues was used, which is a 

higher-level concept and therefore anything that is us-gaap:SalesRevenueNet is also us-gaap:Revenues.  

The filer did not properly differentiate what it is saying is revenues is not total consolidated revenues, 

but rather a portion of that which is related to revenues outside the US. 
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Inappropriate extension of cost of sales 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=919012&accession_number=0001193125-14-

325486&xbrl_type=v#  

 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=919012&accession_number=0001193125-14-325486&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=919012&accession_number=0001193125-14-325486&xbrl_type=v
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Inappropriate concept use 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1504307&accession_number=0001255294-12-

000331&xbrl_type=v#  

 

 

 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1504307&accession_number=0001255294-12-000331&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1504307&accession_number=0001255294-12-000331&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1431888&accession_number=0001387308-12-

000128&xbrl_type=v#  

Filer used the concept us-gaap:CostOfRevenue, but it was for part of the subtotal of cost of revenues, 

not the total. 

 

Cost of revenues is NOT the total 

 

The concept us-gaap:CostOfGoodsSold, which is part of us-gaap:CostOfRevenues, was used to express 

the total cost of sales: 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1431888&accession_number=0001387308-12-000128&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1431888&accession_number=0001387308-12-000128&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1354071&accession_number=0001017386-14-

000129&xbrl_type=v#  

The line item “Sales rebates” was represented using us-gaap:CostOfRevenue: 

 

 

Then the line item “Cost of sales” was represented using a subcomponent of cost of revenue, us-

gaap:CostOfGoodAndServicesSold: 

 

 

 

 

  

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1354071&accession_number=0001017386-14-000129&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1354071&accession_number=0001017386-14-000129&xbrl_type=v
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Changing the meaning of concept 

In the example below, a filer took a detailed concept which is part of cost of revenues, and moved it to 

be a sibling of cost of revenues, thus changing the definition of cost of revenues. 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=912093&accession_number=0001104659-14-

035422&xbrl_type=v#  

 

 

This is the location of us-gaap:CostOfGoodsSoldAmortization in the US GAAP XBRL Taxonomy. 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=912093&accession_number=0001104659-14-035422&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=912093&accession_number=0001104659-14-035422&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=18937&accession_number=0000018937-12-

000036&xbrl_type=v#  

The line item “IMPAIRMENT CHARGES”, a part of cost of sales, is included outside of that concept within 

the income statement, thus changing the meaning of the concept: 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=18937&accession_number=0000018937-12-000036&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=18937&accession_number=0000018937-12-000036&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=95052&accession_number=0000095052-14-

000021&xbrl_type=v#    

The concept us-gaap:CostOfRevenue, was used as a component of a concept which is a part of cost of 

revenue: 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=95052&accession_number=0000095052-14-000021&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=95052&accession_number=0000095052-14-000021&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=1423723&accession_number=0001193805-12-

001816&xbrl_type=v#  

The filer reported a portion of cost of sales (basically a disclosure) outside of cost of sales, thus changing 

the meaning of cost of sales.  This perhaps should have been a disclosure. 

 

This concept is part of disclosures, not part of income statement line items: 

 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1423723&accession_number=0001193805-12-001816&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1423723&accession_number=0001193805-12-001816&xbrl_type=v
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http://www.sec.gov/cgi-bin/viewer?action=view&cik=57725&accession_number=0001104659-14-

037038&xbrl_type=v#  

Gross profit = Revenues – Cost of revenues.  The one-time expense related to JSP contract renewal cost 

is part of cost of sales, and therefore should be included within the total cost of sales.  The one-time line 

item could be either a disclosure of details of those costs, or a subcomponent of total cost of sales.  For 

example 

All other cost of sales 74,572 

JSP contract renewal cost 20,100 

Cost of sales 94,672 

 

Further, there was no need to create an extension concept for that line item, a concept such as us-gaap: 

OtherCostOfOperatingRevenue would have been more appropriate. 

 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=57725&accession_number=0001104659-14-037038&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=57725&accession_number=0001104659-14-037038&xbrl_type=v
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Rounding 

This is an example of rounding errors.  See the income statement of this filing: 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1511159&accession_number=0000721748-14-

000855&xbrl_type=v# 

 

 

Revenues of 7,201 less Cost of goods sold of 7,565 is (364) rather than the reported (365).  Adjustments 

for these sorts of rounding issues should be made prior to putting numbers into a financial report. 

http://www.sec.gov/cgi-bin/viewer?action=view&cik=1511159&accession_number=0000721748-14-000855&xbrl_type=v
http://www.sec.gov/cgi-bin/viewer?action=view&cik=1511159&accession_number=0000721748-14-000855&xbrl_type=v

